Time of Day Stochastic User Equilibrium Assignment Including Expressways*
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910 ) -3
Ho =00 fl, =
u, =90 -4
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[7,8 1 u, =90
10 5011 1358.1 | 1859.2
30 508.2 1446.9 | 1955.1
60 506.3 1380.0 | 1886.3
90 5125 1450.1 | 1962.6
oo 504.5 1366.0 | 1870.5

-3

9,10 ] L, =0
10 489.7 9144 | 1404.1
30 481.6 9198 | 14014
60 484.1 931.8 | 1415.9
90 483.9 9055 | 13894
oo 479.5 905.0 | 1384.5
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7.8 1 u, =90
10 7148 1565.3 | 2280.1
30 5294 14922 | 2021.6
60 515.5 1408.7 | 1924.1
90 506.5 14385 | 19451
oo( ) 507.4 1469.6 | 1977.0
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